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1. dAle 313¢ IfAAREET (Knock out Tournament).
2. oll9T AT 38 AT Wel 9fAATIAT (League or

Round Robin Tournament).

3. T&ell- @3% Yol gfaAfadr (Combination

Tournament).




(Knock out Tournament).
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Method of drawing knock out fixture _—
»In case when the teams are in power of two (16 teams)
» Total numbers of matches= N-1 16-1= 15 (N is the no of
teams)
» Total number of team in each half= N/2 16/2= 8
» No bye is required in this case
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If there are 17 teams

Total number of matches= N-1 =17-1 =16

In case of even number of teams:-

Then the teams in upper and lower half= N/2

In case of odd number of teams:-

Total number of teams in upper half= N+1/2 =17+1/2 =9
Total number of teams in lower half=N-1/2=17-1 /2= 8

Total number of bye= 2"-N (n is the power of two) the power of
two should be just higher then the total number of teams.

= 2°- 17 = 2X2X2X2X2-17= 32-17= 15 bye
If byes are in even number
Then byes in upper and lower half= NB/2
If byes are in odd number
Total number of byes in upper half= NB-1/2 =15-1/2=7
Total number of byes in lower half= NB+1/2 = 15+1/2= 8



